= AH O
M = 0l &8 AF & H Al A
20108 =& 1 3 2Btg ) Eds ~ EAS
2A: A8
M 2SS AIYEUI
&t FeUSHMHA (el /2
2N -3 - c2(3H) - NEME - HES Ol & oK J &= Hns
=SSR 1,293,284 1,314,328 N21,044
SEs A EH| 307,860 313,025 A5,165
=020l & 286,440 291,605 A5,165
A MHE KR 93,400 97,865 A4 ,465
101 ol 2H| 27,996 26,516 1,480
04 JIZtMIZ22NHsSE 27,996 26,516 1,480
OXsgEd oAl E=52(4UHEE) 715 0 715
OltseeEd ZoeIAE 15,300,000& * 5% 765 0 765
201 LBt29H| 48,544 53,489 AN4,945
01 AtS22telyl 18,979 21,010 A2,031
OulrEdE A2,031 0 A2,031
02 s=2494| 6,345 6,679 N334
OuaE2E N334 0 N334
03 #At2YHI 23,220 25,800 2,580
OlEZZ A2,580 0 2,580
202 Of HI 7,200 8,000 N800
01 =2WAHI 7,200 8,000 A 800
OuaE2UZE A 800 0 A 800
203 YR =&| 1,800 2,000 A 200
03 AIMFERQRF=EIH| 1,800 2,000 A 200
OurE2Z A 200 0 A 200
FOEs24 193,040 193,740 AT700
301 LEtEAZ 191,440 191,740 A 300
10 AL HIBAZ 2,700 3,000 A 300
OuaEUZ A 300 0 A 300
302 O|FLTHHEAZ 1,600 2,000 A400
02 QIZHOITHOH E A2 1,600 2,000 A400
OuaE2E A 400 0 A400
SEsS A2 FOHAAIY 18,000 20,000 A2,000
AL FOUEHAAY 18,000 20,000 A2,000
A2 FOIHAASA 18,000 20,000 A2,000
401 AlEHIZLEL20] 18,000 20,000 A 2,000
01 Al&HI 18,000 20,000 A2,000
OuaE2LE A2,000 0 A2,000
HESALH (EHS) 967,424 981,303 A 13,879
ol 2HH| 618,893 620,167 N1,274
ol 2AHH| 618,893 620,167 N1,274
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